Seat No. Enrolment No.:

Gujarat Technological University

Diploma Engineering C to D Bridge Course Examination

Subject Code: C322401 Date: 06- 01-2016
Subject Name: Basic Electronic Circuits
Time: 10:30 AM TO 12:00 PM Total Marks: 70

Instructions:

1.
2.
3.
4. Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not

No.

Attempt all questions.
Make suitable assumption wherever necessary.
Each question is of 1 mark.

allowed)
English version is authentic.

Question Text and Option. Y Aa [Asc.
The dc current through each diode in a bridge rectifier equals

A. the load current B. half the dc load current

C. twice the dc load current D. one-fourth the dc load current
(Qos 253151243 ol £35 SIS MU UAR UALDC 52 HAUR

A As s2e B Jlll As 822 ol s

C. Al As s22 oll el D. Sl As 522 «1l A& el

When matching polarity connections have been made and the potential difference (PD)
is above 0.7 V, the diode is considered to be

A. not working B. forward biased

C. reverse biased D. anopen switch

a2 stalls ofl AAloL WAZlEl YHIAl saA52Uet 53¢ &l Aol Aol WEAUA S1§U
0.9 dlc2 &l IR SLALS ol sdall 5
A gl i etell B glrad aiay ®

C. Ao waud D Quet 2clu D

A diode for which you can change the reverse bias, and thus vary the capacitance is
called a

A. varactor diode B. tunnel diode

C.  zener diode D. switching diode

A SLAS ¥ Boll Ret] cllad HL 3512 5l Aoll U2 U el 8l Ao] ollH
A QeseR slAls B.  zotct slalls

C. etz stls D. Raflat stals

A filtered full-wave rectifier voltage has a smaller ripple than does a half-wave
rectifier voltage for the same load resistance and capacitor values because
A. there is a shorter time between B. there is a longer time between peaks
peaks
C. the larger the ripple, the better D.  None of the among
the filtering action

(3cU ot gt At RELSLAR oL U ollott Sl B 6ls Aot EES2AR 5L 3
FHL ALS Wl FU{ER ofl (EHA UHLot Sl s1R0L %
Al A oll Bl UHY B Uls dA ol ay umy
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10.

C. {luc ay A g Geedot D ui o0l As ul o8l

Testing a good diode with an ohmmeter should indicate
A. high resistance when forward or  B.  low resistance when forward or reverse

reverse biased biased
C.  high resistance when reverse D.  high resistance when forward biased
biased and low resistance when and low resistance when reverse biased

forward biased

ol AR SIS A weH Hle? Yl As sAA A A e20A D 3,
A gy dlled s kas ¥ B. el dfleet w42 §lrat$ ¥ Alairl

Aol oty Hi GlLRAY ML

C.o A llu slRad waay D ay delleda 2 §lrad wa A8l
{12 U Aad s Ui {12 U Aad s Ui

A pn junction allows current flow when

A.  the p-type material is more B.  the n-type material is more positive
positive than the n-type material than the p-type material

C.  both the n-type and p-type D. there is no potential on the n-type or p-
materials have the same potential type materials

Pn ofselot HIYl 522 SEU ULlA B AR
A L udlflad ay Qofldla At B Aot wdldlac ay Wolldla Ul

HE3lae ofl e | HERRlAA ofl e Hi
C. Y ua Aot HAIaA oA A D. ] e Aot 13t A A 0 AR
AU Al UR pAulAA YR _u{lAA

With a 12 V supply, a silicon diode, and a 370-ohm resistor in series, what voltage will
be dropped across the diode?

A. 03V B. 07V

C. 09V D. 14V

ol 12 cdlce At AlcAlslet sRLS A 390 e 82 UL LS ctHl AU A
SIS Hi sl cdlcees QLU a?

A 03V B. 07V

C. 09V D. 14V

The conduction band is closest to the valence band in

A. semiconductors B. conductors

C. insulators D. The distance is the same for all of the
above

£5590ot AlS W AAY AS ol %) s SlA B
A Allssss: ui B.  §ss82 1l

C. éryde di D o wil uRuy o 8l
With a half-wave rectified voltage across the load resistor, load current flows for what
part of a cycle?

A. 0degrees B. 90 degrees
C. 180 degrees D. 360 degrees

8les Aol 282151212 Hi AlS 202 Hi cledos, UAIR Ul 522 UASH oll 32cll

GLLOL HL ULL?

A. 0degrees B. 90 degrees
C. 180 degrees D. 360 degrees
The area at the junction of p-type and n-type materials that has lost its majority carriers
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10.

11.

Q.

12.

.

13.

3.

14.

.

15.

.

16.

6.

17.

is called the

A. barrier potential B. depletion region

C. nregion D. pregion

Ul ua Aot %5210t ol A (AR ¥ BHL AR 3312UR ol slat Aoj olly
A adlar WEaad B 31Qalet Algatet

C. et et D Yl Al

Ripple factor of a full-wave rectifier without filter will be

A. 02 B. 0.48

C. 024 D. 121

(322 o ol g&t Aat 2l sL2AR ol Auct ¥seR ofl (51

A. 02 B. 0.48

C. 024 D. 121

The barrier potential for a Ge PN junction is

A 06V B. 0.3V

C. 0vv D. 0.1V

o Mol YA ot %5210t oll AR WEAAA

A. 06V B. 0.3V

C. 0vv D. 0.1V

The value of ripple factor of a half-wave rectifier without filter is approximately
A 12 B. 0.2

C. 21 D. 0.6

(3ceR doR all sleg Ad 2SR oll ud ¥522 ol (Bud

A 12 B. 0.2

C. 21 D. 0.6

The lowest output impedance is obtained in case of BJT amplifiers for

A.  CB configuration. B.  CE configuration.

C. CC configuration. D. CE with RE configuration
BIT dliicllgiatr Hi Alell 206 2uGeye srllsy

A CB Rl B CERusll

C. ccarust D cE w@ RE atdll drustl

n-type silicon is obtained by

A. Doping with tetravalent element B.  Doping with pentavalent element

C. Doping with trivalent element D.  Doping with a mixture of trivalent and
tetravalent element

Aot 28U ALAlSlot 2L IA Rl Hi MLA B

A Beldde Sldlol ol B. Yzidde SiUlo &l

C.  asacie oLl D.  aigdde wa 2alacie sidlol ol

A zener diode

A. Has a high forward voltage B.  Has asharp breakdown at low reverse
rating. voltage.

C. Isuseful as an amplifier. D. Has a negative resistance.

Pt SIS o

A qy SRad Ay 2odly B Al Aad A@® wd AssiGet 8l

C. Anclsiar Hi aureaL, D A3l 2ol 8l

A transistor has ........

A. one pn junction B.  two pn junction

C. three pn junction D.  four pn junction
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9.

18.

.

19.

c.

20.

R0.

21.

1.

22.

2.

23.

23.

24,

RY¥.

2loflze? o
A A YlAet 530t 81y

C. o Ul Aot o590t 8l

The base of a transistor is ....... doped.
A. heavily

C. lightly

2lofleR oll Ao SWloL 8y
A 3dlcdl

C. auwedl

D.

In a pnp transistor, the current carriers are

A UAat %5210t 812
AR YAt 5210l 8l

moderately
None of the among

Hlsze
ML ol A5 UL (3.

A.  acceptor ions B.  donorions

C. freeelectrons D. holes

Pnp 2lofle? ui 522 3dlar W

A AsAeR et 8y ot wLet 8l
C. A 8asit D aady

The collector of a transistor is ........ doped.

A. heavily B.  moderately

C. lightly D.  None of the among
2loflzeR oll sAse2 A sidlat&ly

A3l B asRe

C. awsedl D. i ol As UL (3.
In an npn transistor, ....... are the minority carriers.

A. free electrons B. holes

C. donorions D. acceptor ions

npn 2loflxeR Hi 522 ¥3laR A

A gl 8Asdet 8y B. 8lcdly

C. Qo et Ay D QsAie? widet &y
The emitter of a transistor is ........ doped.

A. lightly B. heavily

C. moderately D.  None of the among
2loflzeR Al A2 A SWlaL &ly

A asedl B 3cllcll

C. Qe D. i oA As uaL olR.
In a transistor, ........

A. IC=IE+IB B. IB=IC+IE

C. IE=IC+IB D. IE=IC+IB
gioflre? |l

A. IC=IE+IB B. IB=IC+IE

C. IE=IC+IB D. IE=IC+IB

The value of a of a transistor is ........

A. more than 1 B. lessthanl

C. 1 D.  None of the among
gloflReRetl q ol (BHt ... 8y

A qsdlay B q sl a0l
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25.

U.

26.

R6S.

27.

RVU.

28.

C.

29.

30.

30.

31.

34.

32.

C. q D. i o As w3,

The most commonly used transistor arrangement is ........ arrangement.
A. common emitter B. common base

C. common collector D.  None of the among
Alell ay auRdl giofle? ol A Usll

A Qe A2 B. Qe A

C. el sAse? D. i ol As UL ol@.
The output impedance of a transistor connected in ......... arrangement is the highest.
A. common emitter B. common base

C. common collector D.  None of the among
2loflaeR oll UGB Y2 R oo ARUetl Ui Al ay sla.
A Qe A2 B. Qe A

C. el sAse? D. i ol As UL ol@.
The power gain of a transistor connected in ........ arrangement is the highest.
A. common emitter B. common base

C. common collector D.  None of the among
21flReR Al WER A ..o AUl Ui Al ay slat.

A Qs AHleR B. Qe A

C. Qe sQse? D. i ol As uL o1
The voltage gain of a transistor connected in common collector arrangement is .......
A. equaltol B. more than 10

C.  more than 100 D. lessthanl

210822 ofl slHet sAS2R AR UL oll A% Nt ...... &l

A q B. 40 s2clay

C. q00s:dlay D. q 52l 2061
IC=BIB ...

A. ICBO B. IC

C. ICEO D. «alE

IC=BIB ...

A. ICBO B. IC

C. ICEO D. «alE

If the value of a is 0.9, then value of B is ........

A 9 B. 09

C. 900 D. 90

B o ofl (EHA 0.¢ &l AP oll (FHA

A 9 B. 09

C. 900 D. 90

Zener diodes are used primarily as

A. amplifiers B.  voltage regulators

C. rectifiers D. oscillators

Yla@s A BelR slalls ol GuoL

A Quellslar M B. Q@ 20A2R Hi
C. sdlstar i D llaze ui

A pn junction that radiates energy as light instead of as heat is called a
A. LED B.  photo-diode

C. photocell D.  Zener diode
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3R.

33.

33.

34.

3%.

35.

34.

36.

36.

37.

39.

38.

3¢.

39.

Ag YAt 5210l ¥ B o0RH ofl e Yslal Geus 52 A D

A. LED B. @l stals
C. aaaqg D 3otz stalls
When the light increases, the reverse current in a photo-diode
A. increases B.  decreases
C. isunaffected D.  None of the among
a2 Sl2l SIS UR Uslal el el A _UR Aol o 522
A all B w
C. allaecuy Do i ol A5 ueL ot

A half-wave rectifier has an input voltage of 240 V r.m.s. If the step-down transformer
has a turns ratio of 8 : 1, what is the peak load voltage ? Ignore diode drop.

A. 275 B. 86.5

C. 30 D. 425

R¥0 URAHAY Al Bolye clloUl lcs Acl BISLAUR oll U SIGet 2SR oll
gl 22020 ¢:1 ®. Al Uls Als cllc@e ¥ecll AlL? sLalls LU ARl

A 275 B. 86.5

C. 30 D. 425

A zener diode utilises ........ characteristic for its operation

A. forward B. reverse

C. both forward and reverse D.  None of the among
PR stAs ol............ AUl Aol U HIZ AURU B,

A gRa$ B. Jad

C. fadua skadua D uui o0l As uL o8l
A zener diode has ........

A. one pn junction B.  two pn junction

C. three pn junction D.  four pn junction

Bt SLAS A .o 8l

A UIRel %salet B 2 Yot of5alel

C. 3 YAt 52l D. ¥ At of's2let
There is a need of transformer for ........

A. half-wave rectifier B.  centre-tap full-wave rectifier
C.  bridge full-wave rectifier D.  None of the among
................ H 28R ofl 232 W3 B,

A sles Aa sl B Fe:du gt A sdlslarR
C. st Aa Qo sl D Qs ugl (3.

The most commonly used semiconductor is........

A. germanium B. silicon

C. carbon D. sulphur

Hlel YHIRL Hi GuloL i ulad A-lsssex

A oilellay B lllldl

C. siolet D ues

A semiconductor has generally ........ valence electrons

A 2 B. 3

C. 4 D. 6
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3¢.

40.

¥0.

41.

¥q.

42.

¥R.

43.

¥3.

44,

¥¥.

45,

¥Y.

46.

Arlssse vl ... AAU ARt 8laL.

A B. 3
When a pentavalent impurity is added to a pure semiconductor, it becomes ........
A. aninsulator B. anintrinsic semiconductor
C.  p-type semiconductor D. n-type semiconductor
Axl5558R UL AR Vedeie wyvll GRRAMI WA R .............. ool
A gjAeR B. ¢dlalls A:ls3se?
C. ey Alsdse? D Aot ateu Axlls3522
A trivalent impurity has ........ valence electrons
A 4 B. 5
C. 6 D. 3
alsdde 81yl Ui ................. AA™ SAs2et Sl
Ay B. y
Addition of trivalent impurity to a semiconductor creates many ........
A. holes B. free electrons
C. valence electrons D. bound electrons
Al58522 Ui glade 81RYEl GARAL AML UL ... olal.
A Qe B. 4l oasdlel
C.  adxu sAsdlet D.  g@sglet clls
The barrier voltage at a pn junction for germanium is about ........
A. 35V B. 3V
C. 0.1V D. 0.3V
o Ho{lam otl YlAat 520t oll AZ2AR A ......
A. 35V B. 3V
C. 0.1V D. 0.3V
In an unregulated power supply, if load current increases, the output voltage ...........
A. remains the same B.  decreases
C. increases D.  None of the among
WARRYALS ULAR AU HL %l AlS 522 dfl cdl wG2uBaye dle........
A ARu R} B w?
C. ad D ui o0 As upL otél
Operating point in transistor represents .......
A. values of IC and VCE when B.  the magnitude of signal
signal is applied
C.  zero signal values of IC and D.  None of the among
VCE
2loflReR oAl RAURE DL ARs.............. galla,
A Icua VeEll ldlaa B Rostet ol Bad
Roetct 20y 81y
CcuAVCEAl Al aaRr P ami«l As ugloldl
Roetct 20 ot 8y
For faithful amplification by a transistor circuit, the value of VBE should .......... for a
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¥S.

471.

¥9.

48.

¥C.

49,

¥C.

50.

Yo.

51.

uq.

52.

.

53.

silicon transistor.

A. bezero B. be001V

C. not fall below 0.7 V D. be between0Vand 0.1V
RSl 2i(DPe2 RS2 otl tA0R ALl 2lot 12 VBE ofl (Bt ------- alat
Ao B. 0.01de

C. 0.9 5L AUB o8l D. oua 0.4 dlee ofl a2
The operating point is also called the ........

A. cut off point B. quiescent point

C. saturation point D.  None of the among
WURADL WS Al ... ugL séald

A g2 g Wbe B. (sdeie wse

C. AnRaeiWse D i ol As UL o18l
Thermal runaway occurs when ........

A.  collector is reverse biased B. transistor is not biased

C. emitter is forward biased D. junction capacitance is high
Al RetUA ool AR

A sQseR dlad wlar 8l B. 2loflre2 A cladt o1l 8l
C. Aule? flraf sz dla D. ofseiet 3012 ay 8l
The leakage current in a diode is due to ........

A. minority carriers B.  majority carriers

C. junction capacitance D.  None of the among

stlls i 3o 522 oo oll 510 &l

A galdld 3Rl B Rl 3R

C. ofsalet 302 D uui o0l As uL otél

A zener diode is destroyed if it ........

A. s forward biased B. isreverse biased

C. carries more than rated current D.  None of the among
et SIS ottt WA ol d

A QRaf oA 8y B. fediolau dy

C. s sdiayse A dl D. i ol As ugL «1él
The reverse current in a diode is of the order of ........

A, kA B. mA

C. pA D. A

SIS ol AL 822 v, Hi 8l

A kA B. mA

C. pA D. A

The schematic symbols for an LED and a photodiode

A. are the same except the arrows B.  are exactly the same
point in different directions

C.  bear no resemblance to one D. none of these
another

LED el $12L sL2ls il Rl
A el st A ol Rau o] B aayel mru

C. Qs ana«dl D. 2 ol As uiL 18l
In a bridge rectifier circuit, how many diodes are conducting during a given alternation
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us3.

54.

uy.

55.

uy,

56.

us.

S7.

Yo.

58.

uc.

59.

ue.

of the input ac waveform?
A 1 B. 3
C. 2 D. 4

(Qor 252151202 Hi a1 A Setye WUCUHL WA RUR WS % UHA B2l SIS

£559ol Hi AA?

A q B. 3

IC=o*IE+...............

A IB B. ICEO

C. ICBO D. PIB

IC=o*IE+...............

A IB B. ICEO

C. ICBO D. PIB

With forward bias to a pn junction, the width of depletion layer ........

A.  decreases B. increases

C. remains the same D.  None of the among

(R UlAot a52lal S12ad ollaA AU AA RUR 31A et AAUR ofl ASLE

A ue B ad

C. uull ey 23 D. i ol As upL o1l

A reverse biased pn junction has resistance of the........

A. order of Q B.  order of kQ

C. order of MQ D.  None of the among

YAt a52let IlaRlellauy saUHL WA RUR Aol ™A ... Hi sl

A oui B xoui

C. maul D uui o0l As upL o8l

A pn junction acts as a ........

A. controlled switch B.  bidirectional switch

C. unidirectional switch D.  None of the among

YAt 53et............... 3% ad

A gales B oyl staksatetet ey

C. ol stasatetet el D. i ol As ugL otél

The battery connections required to forward bias a pn junction are ........

A. +veterminal to pand -ve B. -veterminal to p and +ve terminal to n
terminal to n

C. -veterminal to p and -ve D.  None of the among
terminal to n

YAt %'s9lel A Sl ol sl HIZ A2 oll SASot....

A ve eH{lotct p A A -ve B.  _veedlolct p A el +ve ex{lotct n
e{lct nal

C. veelldcpAu-veelold D 2 o0l As uwL o1
nal

In a semiconductor, current conduction is due ........

A. onlyto holes B. onlyto free electrons

C. to holes and free electrons D.  None of the among

A{l$5522 ML 8§ of ASTL ....oooore oll $12Q ULY



60.

SO.

61.

Sq.

62.

SR.

63.

S3.

64.

SY¥.

65.

SU.

66.

SS.

A gsd Qe ol B g5c gl 8ARet otl

C. At U 8AsAe iRl D. i o0l As UL 18l
A hole and electron in close proximity would tend to ........

A.  repel each other B.  attract each other

C. have no effect on each other D.  None of the among
Al Ual BASSol Ul o125 QA A A Gl ..............

A g2 As olly A B. 53 As ol

C. a8 wratlay D 2 ol A5 gl «18l

As the doping to a pure semiconductor increases, the bulk resistance of the
semiconductor ........

A.  remains the same B. increases

C.  decreases D.  None of the among

ol A5522 Ui SWloL clutRatHi A Al Aotl R

A Ul 3 B.  qd

C w2 D. i ol As upL otdl

In insulators, the energy gap between valence and conduction bands is ........
A. very large B. zero

C. verysmall D.  None of the among
823)A2 Hi AU Wal $55201 AS LA oll Wl A ............ sl

A gl Hal B oflA

C. wull olloll D uui o0l As uL o8l

In a conductor, the energy gap between valence and conduction bands is ........
A. very large B. zero

C. verysmall D.  None of the among

§5522 Ui Ui AAR A 555210l A AR ol WA AU ............... 8l
Ayl B o3

C. uul olloll D uui o0l As upL otél

In a semiconductor, the energy gap between valence and conduction bands is about

A. 15eV B. 100eV

C. 50eV D. leV

A 5552 L UL AAR U §552U0t Gl AR Al W[ AU ............ &l
A. 15eV B. 100eV

C. 50eV D. leV

At room temperature, an intrinsic silicon acts approximately as ........
A. abattery B. aconductor

C. aninsulator D. apiece of copper wire
U dAluHlal, 8E1lls Aot ... 33 ad.

A aedl B.  §sse?

C. éryde: D QuR R

When the graph between current through and voltage across a device is a straight line,

the device is referred to as ........
A. linear B. active
C. nonlinear D. passive

AR (Sl oll 522 WA A% oll AULg W5 ULl Alesat flal R A [Sausu



67.

S9.

68.

SC.

69.

Sc.

70.

90.

A dlellar B.  Asdla

C. oot dloflaR D Al

A diode utilises ........ characteristic for rectification.

A. reverse B. forward

C. forward or reverse D.  None of the among
2525132t Ui SISOl oo URAslL AR

A dlad B Qlas

C. QRaf ¥ Aladl D. i ol As upL otél
The maximum efficiency of a half-wave rectifier is ...........

A.  40.6% B. 812%

C. 50% D. 25%

8les At R6ESIAR ol HetH st ................

A.  40.6% B. 812%

C. 50% D. 25%

If the temperature of a diode increases, then leakage current ........

A. remains the same B.  decreases

C. increases D. becomes zero

ol SLAS of M UMl crlRall Hi A Al Aol Al¥es s22......
A Rl o R3 B. w2

C. ad D g2t a2y

To display the digit 8 in a seven-segment indicator

A.  C must be lighted B. G must be off

C. F must be on D.  All segments must be lighted
Actol A%N2 SIRA UL ¢ SIRA AL HLL ...

A cysi@d 8l AsR B Golu ddlAlsl.

C. Fag dld s, D ot Aor ystalld dlat w18,

*hkkkhkhkkkhkhkhkkihkiik
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